
SAP ABAP table VVIOB02 {Property change structure}

VVIOB02

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SGRUNDB [NUMC (8)]

RGRNART [CHAR (2)]

ADRNR [NUMC (10)]

RNBPLAN [CHAR (4)]

J_OBJNR [CHAR (22)]

SGRART [NUMC (4)]

SGRQAL [NUMC (3)]

SGRFRM [NUMC (3)]

SGRGZS [NUMC (3)]

PRCTR [CHAR (10)]

SUNUTZA [CHAR (8)]

PROFL [CHAR (6)]

KOKRS [CHAR (4)]

GSBER [CHAR (4)]

XGEMARK [CHAR (12)]

JERBBAU [CHAR (1)]

GEMEINDE [CHAR (8)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 VVIOB02-PRCTR = CEPC-PRCTR 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 VVIOB02-J_OBJNR = ONR00-OBJNR 
0..N

0..N

SANO1

MANDT [CLNT (3)]

ADRNR [CHAR (10)]

OBJNR [NUMC (10)]

OBTYP [NUMC (2)]

 VVIOB02-ADRNR = SANO1-OBJNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VVIOB02-BUKRS = T001-BUKRS 
0..N

0..N

TDO9

MANDT [CLNT (3)]

SOBJERBBAU [CHAR (1)]

 VVIOB02-JERBBAU = TDO9-SOBJERBBAU 
0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 VVIOB02-GSBER = TGSB-GSBER 
0..N

1

TIV36

MANDT [CLNT (3)]

SUNART [CHAR (8)]

 VVIOB02-SUNUTZA = TIV36-SUNART 
0..N

0..N

TIV56

MANDT [CLNT (3)]

SGRART [NUMC (4)]
 VVIOB02-SGRART = TIV56-SGRART 0..N

0..N

TIV57

MANDT [CLNT (3)]

SGRQAL [NUMC (3)]
 VVIOB02-SGRQAL = TIV57-SGRQAL 0..N

0..N
TIV58

MANDT [CLNT (3)]

SGRFRM [NUMC (3)]

 VVIOB02-SGRFRM = TIV58-SGRFRM 
0..N0..N

TIV59

MANDT [CLNT (3)]

SGRGZS [NUMC (3)]

 VVIOB02-SGRGZS = TIV59-SGRGZS 

0..N

0..N

TIVB3

MANDT [CLNT (3)]

RNBPLAN [CHAR (4)]

 VVIOB02-RNBPLAN = TIVB3-RNBPLAN 

0..N

1

TIVC4

MANDT [CLNT (3)]

RGRNART [CHAR (2)]

 VVIOB02-RGRNART = TIVC4-RGRNART 

0..N

1

TIVG1

MANDT [CLNT (3)]

GEMEINDE [CHAR (8)]

 VVIOB02-GEMEINDE = TIVG1-GEMEINDE 

0..N

1

TIVG2

MANDT [CLNT (3)]

GEMARK [CHAR (12)]

 VVIOB02-XGEMARK = TIVG2-GEMARK 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 VVIOB02-KOKRS = TKA01-KOKRS 

0..N

0..N

TKB1A

MANDT [CLNT (3)]

APROF [CHAR (6)]

 VVIOB02-PROFL = TKB1A-APROF 

0..N

0..N

VIGBUCH

MANDT [CLNT (3)]

SGRUNDB [NUMC (8)]

 VVIOB02-SGRUNDB = VIGBUCH-SGRUNDB 

0..N

0..N

VIOB01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

 VVIOB02-SWENR = VIOB01-SWENR 

0..N

0..N


